G { 1% HA Y
5 E B A AR &R B
(R4. 4. 1BILE)
T 31 % % M B | R =B B HE
H AKaEgs (4 5%5y) 5 6 5mmX4 0m 1
H IR E & 5 iV 6 5mmX4 5m 1
e TR N 0 O P
(P RRIRERR S L) %5 FUR mm m
ﬂﬁ]/\ﬁﬁfﬁ%%%‘ 95 - 75mmX20m 15
EE Bt e 5 75mmX 2 5m 4
4 BEH O AR 26 SV R AW 1
72 I 56 Bh kA 146
D‘; Ze R R AR X 153 MR FEM (A) 60kg
1]
o e 55 - 12 a MR FEM (<~ > B) 619
%)
e B E g FH AN o 9 fts Ta T KA 32, 460L
HoZAT ) X)L 12 KGR A= > 7 143
T Tk —I ) A 7 AKBEHS AT L 20
T XTI H 2 KB AR 17
H—1 v kK 3 K EXR A RE AR — b 3
MEA (3 fags) 1 R i £< 12
W e Ty T A 1 IKEEF A~V A > b 12
K| mnzek—var— | 2 | X Al 12
= i
= B R U a | AR RS g 2—y |12
50mmx20m| 108 | 1 B 3
6 5mmX 2m 1 jrg PR 3
HBEH
R—A 6 5mmX 3m 2 AT —IN 7 3
~F /K
6 5mmX10m 1 L AXa2—F a2—7 3
6 5mmxX20m| 248 A NATIE N 6

FF oo —R—

,13,




